[ Efficiency vs vertpos |
- 0.2

CJVIT: | SERTTRRRPN FRTRPRRR b
2. qF : :
U e

Q o
50.12_—

0.06F
0.04
0.02

0.dF-wrererienneeness I%
0.08F |-+ ; ;

(8] . .
{0 | SETEEIE A %

1.0

Ratio

0.95

1072

1

10 0?
TP vertr (cr%)

—=— DQM_mKFIt_T1orignar

T DOM_mKFit TTNEW
—=rd . DOM_mkFit_TTNEWS50
Efficiend = 5w mkrit TTNEW100

N 0.2
00.18F
o E
> 0.16
>
LC) I
$0.14F
(8] L
£ 0.12
(]

0.1F
0.08
0.06
0.04
0.02
L.

Ratio

[y
TTTT] T
s
s
-

0.95}

=30 -20

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

N 0.2
>
A.0.18F
E L
50.16
20.14F
P E
20.12F
0.1F
0.08F
0.06F
0.04F

0.02

0

efticie

FRVS)

Ratio

1

0.952

0 =15 -10 -5

5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


